



St. Louis County, Minnesota

Date of Report: 4/27/2025 2:55:28 AM

General Details

 Parcel ID:
 510-0020-03485

 Document:
 Abstract - 1250592

 Document Date:
 11/21/2014

Legal Description Details

Plat Name: PORTAGE

Section Township Range Lot Block

22 66 17 - -

Description: PART OF SE 1/4 OF SW 1/4 LYING EAST OF COUNTY HIGHWAY NO 24 EX 28/100 AC FOR PRIVATE ROAD

Taxpayer Details

Taxpayer NameCLEMMER RANDY Aand Address:6340 CTY RD 422BUYCK MN 55771

Owner Details

Owner Name CLEMMER RANDY A

Payable 2025 Tax Summary

2025 - Net Tax \$441.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$526.00

Current Tax Due (as of 4/26/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$263.00	2025 - 2nd Half Tax	\$263.00	2025 - 1st Half Tax Due	\$263.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$263.00	
2025 - 1st Half Due	\$263.00	2025 - 2nd Half Due	\$263.00	2025 - Total Due	\$526.00	

Parcel Details

Property Address: 6340 CO RD 422, ORR MN

School District: 2142
Tax Increment District: -

Property/Homesteader: CLEMMER, RANDY A

	Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity				
201	1 - Owner Homestead (100.00% total)	\$33,600	\$67,900	\$101,500	\$0	\$0	-				
207	0 - Non Homestead	\$4,500	\$18,800	\$23,300	\$0	\$0	-				
	Total:	\$38,100	\$86,700	\$124,800	\$0	\$0	932				





St. Louis County, Minnesota

Date of Report: 4/27/2025 2:55:28 AM

Land Details

 Deeded Acres:
 19.72

 Waterfront:

 Water Front Feet:
 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc: -

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

improvement 1 D	etalis (27X36 DBL)	
Main Floor Ft 2	Cross Area Et 2	Das

ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	MANUFACTURED HOME	0	972	2	972	-	DBL - DBL WIDE
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	27	36	972	POST ON GR	ROUND

D 41 0 4	D 1 0				F: 1 0 1	
OP	1	10	27	270	POST ON GRO	UND
DK	0	8	22	176	POST ON GRO	UND
DK	0	8	4	32	POST ON GRO	UND
BAS	1	27	36	972	POST ON GRO	UND

Bath CountBedroom CountRoom CountFireplace CountHVAC1 BATH2 BEDROOMS--C&AIR_COND, PROPANE

Improvement 2 Details (10X20 W/LT

			improvem	ent 2 Det	alis (TUAZU W/L	1)	
li	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
S	ORAGE BUILDING	0	20	0	200	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	10	20	200	POST ON G	ROUND
	LT	1	8	20	160	POST ON G	ROUND

		Improvement 3 D	etails (14X14 SLP)	
T	Vaan D.::14	Main Flags F4 2	Опосо Апос Б4 2	

-	Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	SLEEPER	0	19	6	196	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	14	14	196	POST ON G	ROUND
	CWX	1	7	14	98	POST ON G	ROUND

Improvement 4 Details (O	LD HSE ST)
--------------------------	------------

lm	provement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des
	HOUSE	0	1,00	64	1,190	-	1S+ - 1+ STORY
	Segment	Story	Width	Length	Area	Foundat	tion
	BAS	1	20	28	560	POST ON G	ROUND
	BAS	1.2	18	28	504	POST ON G	ROUND
	CW	1	8	18	144	POST ON G	ROUND
	Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC

Bath Count Bedroom Count Room Count Fireplace Count HVAC

1.0 BATH - 0 STOVE/SPCE, FUEL OIL





St. Louis County, Minnesota

Date of Report: 4/27/2025 2:55:28 AM

		lm n n	mant F Data!!a /	CT M// LT\				
Improvement Ty	pe Year Buil	•	ment 5 Details (•	sement Finish	Style (Code & Desc.	
STORAGE BUILDI		36		60	-	Otyle	- Lego.	
Segme			Length	Area	Found	lation		
BAS		18	20	360	POST ON	GROUND		
LT	1	8	20	160	POST ON	GROUND		
		Improver	ment 6 Details (LOAFING)				
Improvement Ty	pe Year Buil	-	•	•	sement Finish	Style (Code & Desc.	
STORAGE BUILDI	NG 2020	22	0 2	20	-	-	-	
Segmo	ent Sto	ry Width	Length	Area	Found	lation		
BAS	1	10	22	220	POST ON	GROUND		
		Sales Reported	to the St. Louis	County Audit	or			
S	ale Date		Purchase Price		CF	RV Number		
1	11/2014		\$97,000			208567		
1	12/2007		\$110,000			180650		
		As	ssessment Hist	ory				
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
	201	\$33,600	\$64,800	\$98,400	\$0	\$0	-	
2024 Payable 2025	207	\$4,500	\$17,900	\$22,400	\$0	\$0	-	
•	Tota	I \$38,100	\$82,700	\$120,800	\$0	\$0	887.00	
	201	\$31,400	\$56,600	\$88,000	\$0	\$0	-	
2023 Payable 2024	204	\$4,200	\$21,000	\$25,200	\$0	\$0	-	
·	Tota	\$35,600	\$77,600	\$113,200	\$0	\$0	839.00	
	201	\$33,200	\$64,900	\$98,100	\$0	\$0	-	
2022 Payable 2023	Tota	\$33,200	\$64,900	\$98,100	\$0	\$0	697.00	
	201	\$26,500	\$56,000	\$82,500	\$0	\$0	-	
2021 Payable 2022	Tota	\$26,500	\$56,000	\$82,500	\$0	\$0	527.00	
		٦ .	Γax Detail Histo	ry		-		
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land M	Taxable Bu V MV		al Taxable MV	
2024	\$649.00	\$85.00	\$734.00	\$25,138	\$58,74	2	\$83,880	
2023	\$525.00	\$85.00	\$610.00	\$23,585	\$46,10	4	\$69,689	
2022	\$401.00	\$85.00	\$486.00	\$16,923	\$35,762		\$52,685	





St. Louis County, Minnesota

Date of Report: 4/27/2025 2:55:28 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.